C§ Pinnacle Select Series
@P Clad Awning (Push-Out)

W'NDSOR Parts Identification

SASH

INTERIOR VIEW

6ETRACTABLE SCREE@

12

Y

13

18

FRAME

INTERIOR VIEW i

14
4/12 1

TAW-P



)

Pinnacle Select Series
Clad Awning (Push-Out)

WINDSOR  Parts Identification
Image Iltem # Description Color / Finish / Size Spec Part #
Brass 590138
Champagne 590179
Oil Rubbed Bronze 590142
. L Bronze 590144
1 Classic Multi-Point Handle Faux Bronze 590146
White 590148
Black Matte 590150
Satin Nickel 590152
| . Lock Spindle 590154
N
ay Brass 590155
Champagne 590156
Oil Rubbed Bronze 590157
\ Lock Screws Bronze 590158
Faux Bronze 590159
White 590160
Black Matte 590161
Satin Nickel 590162
Keeper 590137
2 K S
eeper Screws

#7 x 3/4" Screw 2370091

Standard
’ Less than 22" (Frame Size) 590117
L 23" - 29" 590118
30" - 37" 590111
I 38" - 45" 590112
46" - 53" 590113
54" - 61" 590114
62" - 69" 590115
Lock Bar 70" and Larger 590116

Seacoast
L 3 Less than 22" (Frame Size) 590129
23" - 29" 590130
= 30" - 37" 590123
o 38" - 45" 590124
= 46" - 53" 590125
54" - 61" 590126
(1 62" - 69" 590127
A 70" and Larger 590128
A Lock Bar Screws Standard 508025
) #8 x 7/8" Screw Seacoast 518150

4/12

TAW-P




)

Pinnacle Select Series
Clad Awning (Push-Out)

WINRSOR - Parts Identification
Image Iltem # Description Color / Finish / Size Spec Part #
Standard RH 590102
Standard LH 590103
Hinge Arm 22" - Seacoast LH 582149
4 22" - Seacoast RH 582150
26" - Seacoast LH 590183
26" - Seacoast RH 590171
& .
Hinge Arm Screw

#7 x 3/4" Screw 2370091
Friction Adjuster 590164

> Friction Adjuster S

riction Adjuster Screws
#8 x 3/4" Screw 518152
Egress & Std. Under 32"* RH 542045
Over 32" RH 590107
Hinge Track Egress & Std. Under 32" LH 542040
6 Over 32" LH 590106
*Frame Size
Hinge Track Screw
#7 x 3/4" Screw 2370091
. Snubber 590163
g = 7
Snubber Screw
#8 x 3/4" Screw 508152
Frame Weatherstrip

8 (All Four Sides) 531101
9 Top Sash Weatherstrip Black - 8' Lineal 2388891

4/12

TAW-P




Pinnacle Select Series

. Clad Awning (Push-Out)

WINRSOR  Parts Identification
Image Iltem # Description Color / Finish / Size Spec Part #
-(-(—O 10 Side Sash Weatherstrip 531024
~ 11 Sash Bottom Cover Black 2388889
12 Clear Drip Cap 14' Lineal Length 471005
13 Side Nail Fin 14' Lineal Length 460015
14 Sill Nail Fin 14' Lineal Length 460020
15 Nail Fin Gasket 4 per Sheet 490013
10' Pine Lineal 2922191
Head Sash Stop 10' Alder Lineal 2922191-A
(Used with No Screen) .
10" Fir Lineal 2922191-F
Not Shown on Assembly Dwg
. ) 10' Pine Lineal 2922190
16 Interior Sash Stop (Sides) 10' Alder Lineal 2922190-A
(Used with Retractable Screen) .
P a 10" Fir Lineal 2922190-F
. ) 10' Pine Lineal 2530102
Interior Sash Stop (Sides) 8' Alder Lineal 2530102-A
(Used with No Screen) .
12' Fir Lineal 2530102-F
Not Shown on Assembly Dwg
10' Pine Lineal 2922191
17 Sill Sash Stop 10" Alder Lineal 2922191-A
10' Fir Lineal 2922191-F
4/12 4 TAW-P




)

Pinnacle Select Series
Clad Awning (Push-Out)

WINDSOR  Parts Identification
IEESE Item # Description Color / Finish / Size Spec Part #
Jamb Extension 7/16" L0’ Pine Lineal 291018
(4-9/16" OA Width) 8' Alder Lineal 291018-A
6' Fir Lineal 291018-F
Jamb Extension 7/16" Full Width 10’ Pine Lineal 291065
(4-9/16" OA Width) 8' Alder Lineal 291065-A
6' Fir Lineal 291065-F
Jamb Extension 1-1/8" 10' Pine Lineal 2091020
18 Jamb Extension 2" 11’ Pine Lineal 140103
(6-1/8" OA Width) 8' Alder Lineal 140103-A
8' Fir Lineal 140103-F
Jamb Extension 2-7/16" 16’ Pine Lineal 291022
(6-9/16" OA Width) 8' Alder Lineal 291022-A
6' Fir Lineal 291022-F
Jamb Extension 3-1/8" 10’ Pine Lineal 291024
(7-1/4" OA Width) 8" Alder Lineal 291024-A
6' Fir Lineal 291024-F
8' Pine Lineal 2380890
- Ogee Glass Stop 8' Alder Lineal 2380890-A
l 8' Fir Lineal 2380890-F
Glass Stop Tape i ,
1/16" x 5/16" Single Sided Gray - 3800" Spool 2381400
Glazing Tape i ,
1/16" x 5/16" Double Faced Black - 216" Roll 2381410
19
8' Pine Lineal 2922300
Contemporary Glass Stop 8' Alder Lineal 2922300-A
= 8' Fir Lineal 2922300-F
Glass Stop Tape i ,
1/16" x 5/16" Single Sided Gray - 3800" Spool 2381400
Glazing Tape i ,
1/16" x 5/16" Double Faced Black - 216" Roll 2381410
Not Shown on Assembly Dwg
412 5 TAW-P




	Clad Select Pushout Awning
	Clad Select Awning Push-Out
	Select Clad Awning (Push-Out).pdf
	Sheet1




